
Subject: 7pi
Posted by j.luis cruz . on Mon, 30 Jan 2006 00:05:08 GMT
View Forum Message <> Reply to Message

Hy  again  Wayne..in  the  7pi crossover  diagram  regarding  to L2 you  say  that  the  value is 
driver  dependent  with  delta  10 a  value  but  with alpha  10  the value  is  0.0 Mh . that  must 
understand by value  0.0  no  inductor  when  using  the  alpha  in  the 7pi .thanks

Subject: Re: 7pi
Posted by Wayne Parham on Mon, 30 Jan 2006 15:10:40 GMT
View Forum Message <> Reply to Message

That's right.  Drivers that use a "0mH" coil don't use a coil.  It's a straight wire connection.
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